
Hypokhâgne B/L DM13 - pour le 07/01/12

Exercice 1

Résoudre les systèmes suivants :

1.


2x− y + 3z = 1
3x− 5y + z = −3
x+ 3y + 5z = 2

2.


x+ y − z + 2t = 1
x− 3y + z + t = 2

5c− 5y + z + 4t = 5

3.


y + z + t = 0
x+ z + t = 1
x+ y + t = 2
x+ y + z = 3

4.

{
x+ y + z + t = 1
x− y + z − t = 2

Exercice 2

Soit α un réel fixé. Résoudre selon les valeurs de α les systèmes :

1.


(1 − α)x+ y = 0

x+ (1 − α)y + z = 0
−y + (1 − α)z = 0

2.


x+ y + z = 0

2x+ (2 − α)y + αz = 0
2x− 2y + z = α+ 1
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